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Definition of economics; _ . s -+ # N -
Is he sotial science concered with how ingividuals; instituions, and saciety make opfimot (best)
choices under conditions of scorCity. - 3 i
e : 'h . - s e

ces.amang cliemaiive end uses.
v

Economics: tha study of the citocation of scarce resour
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Trie Economic Persggééive: . e
The RCONOMIC WaY o.f ‘i‘l.'ﬁnéing has seV'e.ml critical and closely in’terreioled‘ features. .
Sgorci‘h/ and Choice o .i ’ S

goods and se.r'viées. Scercity restricis opfions and demansis.

i
seorce ecanomic fasources meon #ited ; .
cheices. Because we “can’t haveit all," we must decide what we will have angl what we must i5792.

! -5 r.orce inputs of lond, equipment, farm lober. the lobor of cooks and wailers, and manegeict tofent .
are reguired. Becauss saciety couid have used ithese resources lo produce somelning else. ii seoiins2s
‘nose other godds and sevices i making “the lurch’ a\(di!bbla. Econornisis call such sacrificss |
cppc‘rh..mi{y cosis: To oblcin more of one thing. society forgoes the qpporiuniiy_ i getiing Ins nexi besd

tning. Tnat sacdfice is the _Oppéﬂunily cost of fhe chaice.
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. (Rational Behavior Y £ _
purposeful Behavior wationd! self—iniefest. lr‘lleldUOI.Slook for ang N
eflects ra“r.’ﬁo’r’sﬁisfochon obtained from cong, sy,

i)

uman behavior r i : NS Uy
that I re., happ! maximize their satisfaction, e Ny
QUse

ose their ulility— the pleasy s “
Vil "purposeful"or rational, " not "R

Economics assumes
runities 10 incre

— =
od or service. ey allo ]
?hgs weigh cosfs ond penefits, theil econ

om' ic decisions are
: i s Business firms are pur

idi g d services to buy. i : -

mers are P p'o eful i decidin what goods an . s, Ulh
Consu hr1 rUl’ lustsh:l in roduce and how to produce them. Gove,, rposelul baehccveiop{-u- o ;eful'
g v fo provide and how to financeé em P1u i l teesc'nm

“eciding what public serdces o : faully lagic an o 4
g d institutions c:rehlmn:‘l::{f.:za Sfric;rrr:1 eaniihai peopl e's decisions are: Uanfeqeclim

assume that people an ) |
s Lo e m0;< ?h?ézogf;&:g . eful behavior" simply means that people -
ons O : : be A

emofion or the -decisi s€ ¢
desired ouicome 17 mind.

decisiops with some < 5 . _ 2
e ¥ W g B g i) il gl -vg)ig\dloinJlggLquz—\zjsﬂdwl'-ﬁ
ng wll oloasly gl % 0 o KP‘:,; tif‘;f angSll olpall B2g7 Lot ols] pn GsS el

ouiblgall 13357 sl aalall ol o2 o oy

5 315 sguuiall Bapll 34525 &2 < "-'im,lyh;sigdﬁi-cou\ud ,
2 l~__'I’.:ll;a-_Al;b.);@|dwld¢w&otlwlyl,ﬂu ; esLbe R
ﬁ:dpu:,ifw i rzlggaa,ﬂldmoihs.wj,,ﬁglgd\licxsls MJM l]lm glfaw-.nud%
& N LagplamdVl aslyizpsliss 92 @812 ol o2 WH aziaS olul ol ks 15 Lol WLpasiaty ool gl

: v ks o :
* Morginal Analysiss Benefits and Cosis:
alysis—comparisons of marginal benefits g

The economic perspecfive focuses lc]rgely on marginal an
hoices rationally, ihe decision macker m

marginal costs, usually for decision 'making. In making C
compare MB and MC. " 5 Fi

Marginal bengfits (MB): utility received frorn consuming goods and services.

Marginal costs (MC]: opportunity cost.

The choice rationally if MB > MC

Mulliple Choices:
1. Purposeful behavior suggests that:
XA. everyone will make identical choices.
% B rgsource availability exceeds economic wanls.
C. individuals may make different choices because of different desired oulcomes)

D. on individual's economic goals cannot involve tradeoffs.

2: Pun;@seful beh‘gvior mecns that: ‘
A.people cri?'-s'elﬁsh in their decision-making} ‘ 3
?:..;;Z%plg weigh cosis and benefits io make decisions.
5 deCispimc_lre_|mmunc=: from emoﬁc?ﬂs affecting their decisions.
n-makers do Qot make mistakes when weighing costs and benefits

3. ;ou should decide io g_é; fo a movie:
B..ilff it:e marginol cost mm&e*éeed&qu%
3 e marginal benefit of the movi -
! ) ie ex i i l
C. g yogri;mcome Will allow you to buy a 1?:@?5 e marding) cost
€CQause movies are enjoyable. -

- — e
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Econl3l es of Microeconomics Chapter 1: Limits, Altermative and Choices B daz

Ihgg_rj\ggﬂnsjglgz._qr&m

Scientific method procedure consists of several elements:  dg Johs Gy aolc 8y9.01 alall Sl a1

1. Observing real-world behavior and dutcomes. c.a;)l EUSCPRTICETY
2. Bosed on those observations. formulating @ hypothesis algtiall sl
3

5ol ala>Mo
5,00l Jg> o/lio)d &9

. Testing this explanation by comparing the outcomes of specific evenls {o the outcome predicted

by the hypothesis. Lpld=ds alS tiall Jg> ol aod
4. Accepting, rejecting, and modifying the hypothesis, based on

these compansons. pic of o Jlasl

FOESH | BT SLILE

5. Continuing to test the hypothesis against the facts (resulls). ailgal gl Jgosll
. ° . =

Economic principle

A statement about economic behavior or the economy that enables prediction of the probable

effects of certain actions

Economi dels: which are simplified representations of how economic works.

cosipb o LoVl gigesl i) g8lol sy o a9 At s3ll @Bl b 45 slc 95
- 3 oLl Jglaw Js=> olol,BVl pasy 829
(Other-thing equal assumption ) anl gl Sianall (538 yi4all Jolgall yasu ol palysl ) alazaoll Ol ypizall d32 Julis

i

Economic principles and models are highly useful in analyzing economic behavior and understanding

i how the economy operates. They are the tools for ascertaining
outcome) within the economic system. Good theories do a good

exchanging. and consuming goods and services.

Generalizations: Economic principles ore generalizations relofing

product when its price falls. Economists recognizé that some corisu

,considered do not change. They assume 1hoi all .voricbles
_ drconsideration ore nheld constant for a particular analysis.

aaoll \>

cause and effect (or action and
job of explaining ond predicting.

They are supported by facts concerning how individuals and institutions actually behave in produring,

There are some other things you should know aboul economic pririciples.

fo economic behavior or o the

economy itself. Economic principles are expressed Qs the fendencies of typical or overage consumers,
workers, or pusiness firms. For example. economists saY {hat consumers buy more of a porticular

mers may increase iheir purchases

by a lorge amount, others by o small amount. and a few nol at all. This:,"?r'lce-q\gonﬂiy“ principle.
however, holds for the typical consumer and for consumers as O group- " \

¢

Other- Things-Equal (ceteris paribus) Assumption. The assumption, that factors other {han those being

except those under immediate

* sasall 558 33 o3 I g il il Iyl sl 20 il juizall 3 8,350 Jolgsill yam ol 51391
- u‘f’-’””-‘”—‘"““w . : o8 el S sl sl Il:wa.,-l?z.mhs.u,a._.ié&:;\s,;,&u_l

. exomple, fhe consumer incomes) unchanged:

~tgt u)o,\gg adss aalle I__a;.dl ap.d

! id relafionshi i . ond fhe amount of i
4 For_exomple, consider the: relafionship petween the price of Pepsi an .
purchased. Assume that of all the factors that might influence the amount of Peps! purchcse_d (for

.3l9:;v'p
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Econl3l: Princip:

Multiple Choices:

nceteris parib
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mics geals Wi

() that econo ; 5 ‘ %
(C) Ml 5 i ,
inevitably follows recession. e -
: e 1ower the price of bananas, the greater
that: b
e of ban

us" means:

(D) prosperity
onomist says that
ed." This statemen
nes the

2. Suppose an ec
the amount of bananas
(A) The quanti

All factors other than the

v €X eriments.
ory exp rice of banands and the quantiy,

nirolled laboraf
ij> between the p

|ationsh

nduct co

(C) economists can co
lize about theré

(D) One cannot genera
purchased.

Microeconomics and Mocroeconom‘lcs
leoszolls s1,3Vl Jolow s Sy slasdVl 4|,
_ oaitlizen o,

oo ol qosilie oureluly Jololl 132 Julogs @wly> oSeu -

Microeconomics:

Microeconomics is the P s concemed with individual unifs such as a person 4

art of economic
household, a firm, or an industry. At this level of analysis, the economist observes the details of gn
economic unit. ) g
: |
aainll ol ellpzaall Joluw assly> Jio slamdVl (23 8yu2all clasgll ol szl dwhs sle JoUI sl
i "o, -a " . 3 |
Pzl sladV oLVl i sle Bllys Lauus aal
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Macroeconomics:
Macroeconomics examines either th : i i
e economy as a whole or its basic subdivision
s O
such as the government, household, and business sectors. rosorecli
Macroeconomics g
ipproaches the study of economics from the vi ] N

Rkt fr he viewpoint (ks ag=s o) of the enlire
ol b Al olelhall ol JSS sladVl awly slo dedssd sslazsVI

L yuy allaly (peanl] ) ylansVl Siassoy plall £lisVls (E;J*Dl;)l” ot e
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Example
‘Indicate whether

~macroeconomics?

each i
of the following statements” applies to microeconomics o

a eunemp eU.s i ry
' Th oyment IO.le in th wdas 4.99(: n JGnUG 2008 acroeconomics
S Qrar P to rise e ‘ln central Flo |dCl feljuced e | [ ( "y n ed lnle) pl o
. ' X . ‘ f- ‘ tr FI [ ) ”l Ciirus C Op a d caus ‘
c.. LS 0U|pU|, Od]US ed for lnﬂclion, grows by 2.271n 2007 ‘
. { lVl\ULIUc\—UHUul:n\.J)

-
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Econl31: Principles of Microeconomics Chepter 1: Limits, Alternative and Choic

Muliiple Choices:

1. Macroeconomics can Best be described as the:

(A) analysis of how a consumer tries to spend income.//__j—//
(B) udy of The Iarge aggregates of-the-econom\-or the economy ds d whole

T

(C) QOolysis of how firms attempt to maximize their profits
(D) study of how supply and demand determine prices in individual markets

2. Microeconomics:

(A) is the baisis for the "after this, therefore because of this" fallacy.

(B) is not concerned with. details, but only with the overall big picture of the economy.
(C) §s concerned with individual economic units and specific markets.

(D) describes the aggregate flows of output and income.

3. Which of the following is a microeconomic statement?
(A) The real domestic output increased by 2.5 percent last year.
(B)_Unemployment was 6.8 percent of the labor force last year.
(Cﬁwe price of personal computers declined last year)
(D) The general price level increased by 4 percent last year.

Positive and Normative Economics:

S, Leall sLazdVlg wegogoll sladVl

Both microeconomics and macroeconomics contain elemenis of positive economics and
normative economics.

Positive Economics

Positive economics focuses on facts and cause-and-effect relationships. If includes description,
theory development, and theory testing (theoretical economics).

Positive economics avoids value judgments

Theoretical economics is @ positive economics.

G oJ asl Jgall o-Seug Laslpdl asuul) Joosl) Ll pay audsi> olly le el aniey (segogall Jul=all o3

ouii) ppeans Juas ol g 8eu Luld Jul=sll adsylo pudis bl puis plasaiwly &yso aysladl 8,0 Ul oo dae
Byalb)l alli oy (09 ax sl

Normnative Economics

Normative economics involves value judgments; about what the economy should be like or wr_\o’r
particular policy actions should be recommended fo achieve a desirable goal (poicy
economics).

Normative economics embodies subjective feelings about what ought to be.

B RN 5 fiks s s Ll Sz
o goill i old SJLL .wo,al.!oobyulmulwu|&091|@£U95{U‘%LNW“-?2- :
L sj_,-u. D T ih lly it 2Ll sl ) 7 e Al el ol 8Bl Vsl gyby 0l st Julo)
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Econl3l: Principles of Microeconomics Chapter L: Li

Example
Decide whether the followin

_—__’_tumﬁes—shewd—be—!nwad more heavily than necessities

antity demanded of a good is inversel

g statements are positive or normative:

> (Normative Statement)

2. The price and QU y related.  .( Positive Statemeny

3. ltis too hot to jog (th_x) today". > (Normative statement)
(ixktia) Israeli product. > (normatiy

4. We should buy Palestinian goods and boycott

Statement)
5. Arise in the price of petrol will lead to an increase in the demand for rail transport. > (Positiy

statement)

6. Unemployment is more harmful than inflation = (Normative statement)

7. Arise in the price of petrol will lec'd. to an increase in the demand for rail transport. > (Positi
Statement) s

8. Asa general rule, people are happier in more equal societies. > (Normative Statement)

Multiple Choices:

1. A positive statement is one which is:
(A) derived by induction
(B) derived by deduction )
(C}) subjective and is based on a value judgment

(D) bbjective and is based on facts

2. Normative statements are concerned primarily with:
(A) facts and theories
(B) &hot ought fo be|

(C) what is
(D) rational choice involving costs and benefifs

"Economics is concerned with how individuals, institutions, and society make optimal choicesund

conditions of scarcity.” This statement is:
(A) positive, but incorrect

(8] positive and correct|

(C) normative, but incorrect

(D) normative and corect

4. Baselsays that "An increase in the tax on smoke will raise its price." Ruba argues that "Taxes shoul
be increased on smoke because college students consume oo much.” We can conclude that:
(A) Basel's statement is normative, but Rubd's is positive. .
(B) Rubd's statement is normative, but Basel's is positive |
(C) Both statements are normative:
(D) Both statements are positive.

STUDENTS-H |
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Economizing Problem

The funda Y S :
] mental problem ‘of economics is the scarcity of productive resources relative to economic

The economizing problem is idi i
Ll ey is one of ‘qeadlng how to mcke the best use of limited resources 10 samsy

sy SLudVl Sty saat Ao Al laall 8,15 uuy dylasdVl AlSaiall o259

Individuals' Economizing Problem 1,3l «sgiuns (sle dlabyl alS sl

ole Tad JSas 3,80l L5 Asgscen o s il e Jang sl 5l 8 0o 6,01 &Sm0 SVl S o512
CTRIRIPREX

Limited Income and Unlimited Wants:

Ingzvu;ual ’;a-f a fixed amount of income, and have walimited wanis. Because wants exceed income,
individual face an economizing problem; they m-st decide what to buy and what to forgo.

A Budget Line (Budget Constraint):

poSsla oole Tud JSzs spall J55 apgazs ol & aulyall s awlys prow 313V Sgiue 8,0l alSite Jul)
ol dus> , auli 4 ,8V1 wle 8,all alSiin Jdx
5,59 gludl o aSWpzadl o0 M‘ol ale %’mﬂ oo aSWpral 3305 5,4l >|,l°|§| iy ;eSiprul

We can clarify the economizing problem facing consumers by visualizng a budget line (or, more
technically, a budget constraint). It is a schedule or curve that shows various combinations of fwo
products a consumer can purchase with a specific money income. Although we assume two products,
the analysis generalizes to the full range of products available to an individual consumer.

Budget line (or, more technically, a budget constrainy): It is a schedule or curve that shows various combinations of
two products a consumer can purchase witha specific money income.

Example:

If a consumer has $120 to spent on fwo goods: good X and good Y. If the price of good X is $20
and the price of good Y is $10.

~

- All the combination of good X and good Y on or inside
the budget line are attainable from the $120 of money
income (you can afford to buy leils e i),

)

Unattainable

Quantity of 9004 Y
«©
s B )

- All combinations pbeyond the budget line (bsal>
aslzell) are unattainable.

o

- The slope of the budget line measures the ratio of the
price of good X (P4 to the price of good Y {?y.

The Budget Line equation: Px *X+PYy* V=1
- the price of good Y, and | : is the consumer income

Where: Px : the price of good X, Py
. . o . o 71;;'“

\
\
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Econl3l: Principles of Microeconomics Chapter 1: Limits, Alternative, and Choices e !

i i i i ney income. An increase in '
Income Changes : The location of the budget line vares vylih.trrothe \Ileﬂ money income |
shifis the budget line t0 the right; a decrease in money income shifis it to .
them to buy moré g
_offs, choices. and op

oods and services, g
d and enables portunity costs. Ut even yit,

That shifts their pudget lh.'\esvoutwor

more income;, PeoP™

>

5 3

3 ) A decrease in incom

SJ 1. An increase in income shilts | S e ainetinel @ shifts
30 the budget line rightward, with the budget ine nward, with

no change in slope. no change in slope.
154 -
seazcmn
T 1
good X

3 . 4 ' goodX

Multiple Choices:

1. The economizing problem is one of deciding how to make the best use of:
(A) Virtually Unlimited resources to satisfy virtually unlimited wants.
(8) Limited resources to satisfy virtually unlimited wants.
_(C) Unlimited resources to safisfy limited wants. "~
(D) Limited resources to satisfy limited wants.

2. The scarcity problem: -
(A) Persists only because countries have failed tc achieve continuous full em?loymem‘.
available productive resources.

(B) Persists because economic wants exceed

(C) Has been solved in all industrialized nations.
(D) Has been eliminated in affluent societies such as the United States and Canada.

3. The budget line shows:
ne more unit of

(A) the amount of product A that a consumer is willing to give up to obtaino

roduct B.
(B) @ll possible combinations of two goods that can be purchased, given money income and
rices of the gooﬁ.}
t a consumer can purchase with a given money inc

(C) the minimum amount of two goods tha
(D) all possible combinations of two goods that yield the same level of utility to the consumer. -
4. Anincrease in money income:
(A) bhifts the consumer's budget line to the right )
(B) shifts the consumer's budget line to the left.
(C)increases the slope of the budget line.
(D) has no effect on the budget line.

5. Any' corpbinoﬁon of goods lying outside of the budget line:
f,:\‘) |mplle§ that the consumer is not spending all his income.
(8} Is attainable (il sle ,18), given the consumer income.

4

A

\
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(C)yields les_s utility than any point inside the budget line.
(D) s unattainable, given the consumer's income )
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" Society's Economizing Problem_ﬁﬂggy_diwdﬂ;w

aglac oSy Adlixall 28Vl gLl gyl Josiud osilly s lgall (o acgozn tlliny bVl o b o5 o]
rosoby dlas ) @axlul 3)lge plasiwl Loy walai oailly oVly oIS plastal Gl 8,5M gVl gludl ol gl
O oins Tids -5,leall 538 phussewt-ds=> s Ve Lile arsy 2lls of ] 3 lgall 8,35 g (Jlo uulig
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Scarce Resources.

“

Society has limited or scarce economic resources, meaning all natural, human, and manufactured
resources that go into the production of goods and services. This includes the entire set of factory and
farm buildings and all the equipment, fools. and machinery used to produce manufactured goods and
agricultural products: all transportation and communication facilifies: all types of labor; and land and

mineral resources.

oloazdly gludl 2] adas (8 palu e ol of paseat ol aily (2lasdVl) oYl 5,900l By

Resource Categories "
Economists classify economic resources into four general categories.

A. Land: To the economist land includes all natural resources ("gifts of nature") used in the
production process, such as arable land, forests, mineral and oil deposits, and water resources.

oslaall pxrlioy Jayadl Ul by bl Jio g ool ol bVl gaor Jouis apmmakall 5)lgadl @ 2,V
Loty wislall

B. Labor (Jesll):_The resource |abor consists of the physical and mental talents of individuals used
in producing goods and services. The services of a logger, retail clerk, machinist, teacher,
professional football player, and nuclear physicist all fall under the general heading “labor.”

T35 of Tolou spadll Lid 05Sy of oS Jaiuall (il ap=l il Josll &%

C. Capital (JwJI owh): Capital (or capital goods) includes all manufactured aids used in
producing consumer goods and services. Included is all factory, storage, transportation, and
distribution facilities, as well as tools or machinery. Economists refer fo the purchase of capifal -

goods as investment.

wsiliog wlaes 83pls VI oo Laalisall eyl Jlwg oo ansial oLVl psds Lo o2 slasdVl o Jll il
L5 Juoly (o9 azisis Jg,all zhzaiwl &) Jlall puly oo Tes> vaVl pbl oo PESJES IW|IRTY, pladl b‘ig.o." Saisig
(w2 oo Tezr puds Jlall oy oo leser opas

. Capital goods differ from consumer goods because consumer goods satisfy wants direcily,
whereas capital ‘goods do so indirectly by aicling the production of consumer goods.

- Because money produces nothing, economists do not include it as an economic resource. Money used for
purchasing capital goods.

D. Entrepreneurial Ability (putiistly 8,15Y1): There is the special human resource. distinct from labor,
called enfrepreneur ifrty=

iliall gLyl yolic plasiwl pwzs 2l aulasll ity pabiidy 90 8o 09 8,5ball 351 8 Jioms peaidll

op pidio £d 9 pakiiall ol paml Srs 2oyl (o8 daax Sybs Dlool ool aiwls glyisl aac Lol pelisl Joutus
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kes the inifiative in combmlng ﬂ:\e Tving

e.The entreprgneur i : ]

The entrepren

The enirepreneur ta ;
produce a good or a servic

> Y ihAr
= agent who combines the-omere
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strategic busine :
The entrepreneur makes the g Ay

- The entrepreneur is an innovator. He or she Vi L :
: ; zation. o Brguakty oy Catet 108 Saly,|

es, or even new forms of business organ! nl i B SSie 92 sl
o o313l oYl ol S247 - 45l

Jlacl pubsss oo 54z JEal o> o
neur h

entrepreneur’s time, efforts, and abilities may

Because land, labor, capital, and entrepreneurial ability are com
are called the factors of production, or simply "inputs."

Multiple Choices:

Which of the following is a labor resource?
A. b computer programmer]

B. a computer .
C. silicon (sand) used to make computer chips

D. a piece of software used by a firm

1.

2. Which of the following is a capital resource?

A. a computer programmer
B. a corporaie bond issued by a computer manufacturer

C. silicon (sand) used to make computer chips|
D. a piece of software used by a firm

3. The four factors of production are:
A.land, labor, capital, and money
B. &nd, labor, capital, and enfrepreneurial cbilh‘y]
C. labor, capital, technology, and entrepreneurial ability
D. labor, capital, entrepreneurial ability, and money

4. Which of the following is a land resource?

A. a farmer
B. an oil drilling rig

labor, and capital to
roduction and the
ful business venture.

rceS Of
il e @ SUSCeSS
s slall plos 35k Sl gl o

e 9 8310 y : Lo |
1 ssloa! plassl "_Ba sLizenll gl solie plasal ;

ss decisions that sef- 1h_e ¢
[RCORS

e of an enterprise.
-|);._u.;\” ay,all oblall Jag, sl

roduction
rcializes new produc’fs, new p
comme

as no guarantee of profi
YRV .__S)lg)” )blzo.” Jo=is o0 98 L5>L_-,J|

uris a risk bearer. The entrepre

s il be profits or 10sses-
8, ol 2lyl (i 288 ggial] gl B8 Ol C

bined to produce goods and services, they

D.

T————&=amechine for detecting earthquakes
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5. . :
r;\/\om(a;rl1 is not an economic resource because:
. money, as such, does not produce anything)

B. idle money b
- idle alances do not earn interest i
C. it is not scarce. Sl ot

D. money is not a free gift of natore:

Production Possibilities Model zksVl olilSsl  qisis

Production Possibilities Curve

Lists the different combinations of two products th i ifi
e p at can be produced with a specific set of resources,

>,leall @aS) Asmo Aoy 5,8 JUs Glosss giliay oo garxall axaiy of oSoy o (uadl Jioy ((rizein ) JSub 98
Assumptions: i ey

sl auda il Slol,8Yl Gas Bsle gai Wl pase gaizal gloYl olile] iz oy gabaiuws osS)

1. Full employment: The economy is employi i i

Ful loyr : ploying all its available resources.

) @lstase e ol allame ausli] 3lgo g5 Y al A3 (sumg . JolSll dibga goamall S2) 8,350l A=}l slgall guner 0|
(JolS Jagis

2. Fixed resources: The quantity and quality of the factors of production are fixed.
anb gaimall s 8,9gzall AVl 5)lgall dicgis AseS ol

3. Fixed technology: The methods used to produce output are constant.
‘ i sV gazzeall lpodszay (sall (Lxglgisall ) &=yl LVl ol
4. Two goods: The economy is producing only two goods (consumer goods and capital goods).
i ouselw glol geiall pois ol

Production Possibilities Table

A production possibilities table lists the different combinations of two products that can be produced
with a specific set of resources, assuming full employment. Table below presents a simple, hypothetical
economy that is producing pizzas and Industrial Robofs.

Example ‘_;2
LA
10
Production Possibilities of Pizzas and Industrial Robots: J,
'ﬁ Unattainable
Type of product Production Alternative ‘\ 3
A B @ D E s oW
Pizzas 0 1 9a: 8 4 %
Robofs 10 9 7 4 0 £
. At alternative A, this economy would be devoting all its ovgil— %
able resources fo the production of industrial robots (capital £
gnnrk
. At alternative E, all resources would go to piza production G URENTE € 1oEh
(consumer goods). Pizzas (hundred thousands)

it SR A ey R SRS s o sk 12[9;;7,:
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Econl3l: Principles 0

duces both capital

An economy typically Pro ihe prodUCﬁ
we incredse 8

- As we move from altemative A 10 E.
production of industrial robots. ent satisfaction of its wants. BUTM

m
society increases the cU

som
ibilities curvé represem‘s ‘

Each point on the production poss

products. ) unattainable.

¢ curve (such as @

pizzas ying outside th s
: ino realized (une
t is not being (unemployy, et

- Any combination of industrial robots and :
that full employmen

-  Points inside the curve are aitainable, but they indicate

po{nt). ( d\’.?.u) TO Obf
m e given up (o€ i ain o
Opporiunity cost: the number of units of a specific good that must b€ | Ng

more unit of another good. .
e e at each point

& / ihilities cUrv
Opportunity cost = negative slope of the production pOSS‘b'“’“e

o answer the following

Example : 1
Using the table (Production Possibilities of Pizzas and Industrial Robots)

guestions:

Production Alternative
A B C D

1 2 3

9 7 4

Type of product

Pizzas 0
Robots 10

1. If the economy at point D. What is the opportunity cost of one more unit of industrial robots?

@) rtuni st of onem its of robot 4 b Plaags = (32 % units of Pizzcs‘
= = =-4
pportunity co e more units of robots = = = T hots  (4-7) :

2. What is the opportunity cost of the second unit of Pizza?

A in industrial robots 7-9 g
( el ) _ — 2 units of robofs.

Opportunity cost = e o ey
Example
duction possibilities can be represented by the table below:

Suppose that a nation’s pro

Production Alternatives

Products A B C D E
Food 0 4 8 12 | 16
Clothing 20 | 18 141 8 o
What is the maximum amount of food this economy can produce? How much clothing cen |

produce at this point?
13|Pasd
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Econl31: Principles of Microeconomics Chapter 1: Limits, AlrernW

E, At this point, qll
ction 15

at alternative

The greatest amount i i i
of food is 16 units, achieved by producing /
resources are devoied to food production and none to clothing prodvciion. Clothing produ

ZEro.

e ataliernative C, what is the opportunity cost of one more unit of food
Opportuhity cost of one more unit of food = AalBhing & ‘(B'—'M) = 8 = 1.5 units of clothind
A food (12-8) 4
it of clothing?

c. If the economy is producing at alternative C, what is the cbst of one more un

Opportunity cost of one more unit of clothing = AAlf::_d = ll((lz_ii) = % =1 unit of food
clothing -

d. If the economy is producing at alternative C, what is the cost of 4 more unit of food?

From pcri‘b, the opportunity cost of one more unit of food = 1.5 units of clothing
Opportunity cost of 4 more unit of food=15*4=6

Or.from the tcblg, as we move from point C fo D, the consumer increase production of food by 4
units (8 to 12), while decrease consumption of clothing by 6 (14t08).

Example

Below is a production possibilifies table for consumer goods “qutomobiles” and capital goods "Milk™

Type of product Production Alternative

A B e D E
0 2 4 b 8
30, 27 .. 21 312 0

automobiles -
Milk

1.Graph the production possibilities curve
oyl 0l (I oL I Gy oyl e ala>\o

ol sae J5 2 o dxamell bl s1c ol LalS @Y pritess b3 o
(aglsin izl Jao ) 2ilsan > asauall cul=dl

6 3
Automobile
14 | P ase
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om Uploaded By: anonymous



Econl3I: Principles of Microeconomics Chapter 1: Limils, Alternative, and Choices

ne more automobile?

2. If the economy at point C. what is the opportunity costof o

' A Mk
Opportunity cost =z Zutomobile

9 _4.5 liters of milk

(12-21)
(6—4 )

Hale Loz

y at point B, what-is the opportunity cost of two more. autom

3. If the.econom
; Milk  _ Qij;’_'_z_z—l
=_—__—.—————‘ p—
of one more automobile =z zomobile (4=2 )

Opportunity cost

Opportunity cost of ftwo more automobile = Opportunity cost of one

Opportunity cost of fwo more automobile =3*2=6
must move from point B f

the economy
eup (27-21)=

Or: From the table
C, the economy must giv

from point B to point
If the economy at point B, what is the opportunity cost of one more liter of

4.
i 0—2 ’
Oppon‘uni'fy_ cost -t Azlﬁgzblle = (—g—o—_—z;)—)- = % Automobile

What is the opportunity cost of producing the 7thunits of automobile?

The economy must move from point D to point E.

012
_(____—) = -12—2 = ¢ liters of milk

A Milk
(8-6)

: __ A Mik
opportunity cost =z zutomobile

_ What is the opportunity cost of producing the 24t liters of milk?

The economy must move from point C to point B.

A Automobile _ (2—4)
(27—21)

_ Opportunity cost of one moreé liter of milk =——277iTk

At point C, the amount of milk = 21. Increase pr

milk increase

Opportunity cost of producing the 24hjiters of milk =3 * Z o
6

recourses-to pmduce ite Explain

obile? ..

=_g. =3
more *

o point C. W
¢ liters of milk.

oduction of milk to 24 means that the 3 more liters

If the economy producing 3 automobile and 20 liters of milk. Is the economy use of its all availad

numbers of units

hen the economy moving

milk?e

I

=2 Automobile

The poi i ; ’ ;
point 3 auiomobile and 20 liters of milk lie inside the PPC. This point is attainable but it unemploy

point (not use of its all available recourses to prociuce it

STUDENTS-HUB.com
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onl31: Principles of Microeconomics Chapter 1: Limits, Alternative, and M

W : ’
8 b:f?r:i?\wd production at point outside the production possibilities curve indicate? What must occur
€ economy can attain such a level of production?

Any point lie outside the production possibilities curve is unattainable point.

Befgre t_he economy can attain such a level of production it must increase the recourses of the
production orimprovement in the level of technology used. -

Example:
Refer to the diagram to answer questions that follow it

14-»‘\\

1218

V’I10—- \\C G
U .
S 8T \

> -

CAF gl A

i D

£
1
T

0 2 46 810
. Computers
a. !f society is cumrently producing ¢ units of bicycles and 4 units of computers and it now decides to
increase computer output to 6, what is the opportunity cost of increase computer output to 6 unifs?

From the diagram as we move from point C fo point D, the economy increase production of
computers from 4 to 6, that leads to decline production of bicycles from 9 to 5

Opportunity cost of increase computer output from4 to 6 units = |5 — 9| = 4

b. If society is currently producing at point B, what is the opportunity cost of producing one more
Computer?

If the economy at point B, and its wants fo increase production of computers it will move from point

B to point C.

(9-12)
(4-2)

__A Bicycles _
~ A Computer

Opportunity cost = % = 1.5 bicycles

c. If society is currently producing at point D, what is the opportunity cost of producing one more
Bicycle?

If the economy at point D, and ifs wants to inc:ease production of bicycles, it will move from point D
to point C. i

(4-6)
(5-5)

A Computers _

2 g
=== ute
A Bicycles 7 Hcomputer

Opportunity cost =

& .15.|Paap
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Econl3l: Principles

Law of Increasing Oggoﬂunity Costs:

: ion of

The law of increasing opportunity coSts. As the productio
costof producing an additional unit rises. ——
allize wlazg gl Ol alsell aalcy o

parﬁculcr good increases, the Oppoﬂun“y

) s L b aslw oo 72 P ; G
sl ALl oo Blpse Aoy Bzl Sl o538 2 T ] ol | polic 8,8 pac 9o s 5 "o
. : unm}::;uﬂl.w"; glull @86 clzildlﬂ“-“wlc s W""-“‘dls

Example ! Eﬁm—a
i ibili economy

e production possibilistes for an econ:

B) and Compact Disks (CD) In millions.

nity cost hold here? Show how?

Jo

"

The following table shows th
which produces bottles of water (
Does the law of increasing opportu

~

o)

o

HLHE
gl

'"""10003

J

;

/

Answer:
disks is sacrificed for 1 more unit of Bottles 4

unit of compact i
D for 1 more unit of bottles of Woteq

When we move from A to B, just 1
fice 2 additional units of C

water; but in going from B to C we sacri

then 3 more of CD for 1 more of bottles of water. - —
B CD Opportunity cost of one
more_bottles of water (8
= The law of increasing opportunity cost hold here 0 15 - ‘U\
1 14 1
2 12 2
3 9 3
4 5 4
5 0 5 ~

Shape of the Curve:

bowed out from the origin of the graph. Figure shows thar when the e
: 3 : conomy moves from A i i
l(J]p ]suizceszv;a)ly TIrc?_rger hcmounts of industrial robots (1, 2, 3, and 4) to acquire equal incr;?ni;igl;s;%
, 1,1, and 1). This is shown in the slope of 1 i ibiliti i V
{ia s Bine B 8T o) he production possibilities curve, which becomes steepera
J

The law of increasing opportunity costs is reflected in the shape of the production possibilities curve: The Cu,wa

Q
wiA
g
& Unattainable
3
&
2
3
il
5
5
o
$ |
. PoTem Lt LR 2oy
6 LT s 6T s e R

Pizzas (hurdred thousands)

RO
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Econl31: Principles of Microeconomics

Chapter 1: Limits, Alternative, and Choices il das |

> Froducﬁon possibilities curve is
increasing opportunity cost.

» Production possibilities curve i

bowed out fom the origin because it reflects the law of

s straight line because it reflects the law of constant

opportunify COsT.

A Stmigiﬂ-Lfiﬁc"PPC

-Food

Constui epportanity
Cost

‘A Curved-Line PPC
Pizza
A
1 B Tricrcasing Oppounily
Cosl
D
Clothes Robots

Mulfiple Choices:

1. The typical production possibilifies curve is:
A. an upsloping line that is bowed out from the ofigin.

B.

D. a straight upsloping line.

a downsloping line that is bowed in toward the origin.
c. b downsloping line that is bowed out from the oriéin.l

The slope of the typical production possibilities curve:

A. is positive.

B. fncrecses as one moves southeast along the curve.|

C. is constant as one moves down

D. decreases as one Moves

3. The production possibilities curve has:
A. a positive slope that increases as we move al

negative slo e that increases
decrease

B.
C. a negative slope that

D. a negative slope that is constant as we move d

Based on the following production
above diagram. The
A. Move from B on PPl fo E on PP2
B.

D. Shift of the production possibilit

concept of opportunity cost is best represented by the:

ove from B on PPl o Con PPl
C. Move from D inside PPl to B on PPL

the curve.

southeast along the curve.

long it from left to right.

as we move along it from left to right.
s as we move along it from left to right.
long if from left to right.

possibilities curve answer the following question: Refer 16 the

ies curve from PPl o PP2.

Capltof goods

STUDENTS-HUB.com
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' . ive, and Choices
Econl3l: Principles of Microeconomics Chapter 1: Limits, Alternative dole o 1

Example Guns Butter m
: i swer the (tons) of Guns Cogt
Based on the following production possibilities schedule an . 36 T -
following questions: 5 28 7 Utter
3 ? 12 tons of b
utt
nd wants-to | 4 0 ? —1

a. If the economy’is cutrently producing one Gur?, a
produce more Guns, what is the opportunity

= 2 :
additional Gun® - (A Butter _ Qﬁf_@. Lt S b
Opportunity cost of an additional Gun = e 1. (D)

cost of an

b. If the economy is currently producing 3 Gun, how many fons of butter can this country produce

efficiently2
Opportunity cost of an additional Gun = A Butter / A Gun

_ (x-28)

-12= (3-2)

© X-28=-12 © X=28-12=16fonsof butter

Optimal Allocation

Of all the attainable combinations of pizzas and industrial robots on the curve in. Figure, which is optimal
(best)2 That is, what specific quantities of resources should be allocated to pizzas A
and what specific quantities should be allocated to industrial robots in order to S
maximize satisfaction?

, B) akaily (A) aballs .axls wlwuwihamwoummoi'muu,ss
' l(s[ )l,,w © (&n)mu us::jn bl ol Bl 1ol Jios (izinll sl &lass JSg (C) abiilly
Jias simiall sle gas osall Jladl o3n of ol 0is (58 Jgiig ) 853510l oliall gaazr pasiul
Productive Efficiency). &=l selas

i

robols

pizas

Economic decisions center on comparisons of marginal benefit (MB) and marginal cost (MC). Any
economic activity should be expanded as long as marginal benefit exceeds marginal cost and should
be reduced if marginal cost exceeds marginal benefit. The optimal amount of the activity occurs where MB =
MC. Society needs to make a similar assessment about ifs production decision.

Consider pizzas. We dlready know from the law of increasing
opportunity costs that the marginal costs of additional units of pizza
will raise as more units are produced. At the same time, we need to
recognize that the exira or marginal benefits that come from
producing and consuming piza decline with each successive unit
of pizza. Consequently, each successive unit of pizza brings with it
both increasing marginal costs and decreasing marginal benefits.

“
v

Marglnal benefit and
marginal cost

|

{
The optimal quantity of pizza production is indiccled by point e at 52’
the intersection of the MB and MC curves: 200,000 units in Figure. : i
why T thissamount—the—eptimal-quaniity2 If anly 100,000 units of ) ;
pizzas were produced, the marginal benefit of an extra unit of pizza 1 ’L .
(point @) would exceed its marginal cost (point b).When society 07T Visoss 200000 30000
gains something worth $15 at @ marginal cost of only $5, it is better ) Quantty of pi=s

19 |Fase
s e i A
| ®
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Econl3l: Principles of Microeconomics Chapter 1: Limits, Alternative, and Choices e gt ||

off. In Figure above, net gains can continue {o be realized until pizza product production has been

increased to 200,000.

IfMB>MC — production should be increased

IfMB <MC — production should be decreased

IfMB = MC — the optimal amount of the production occurs (optimal‘allocation)

Productive Efficiency (bl 3:S)

The production of any particular good in the least costly way (sl Jaly asludl W)
‘e Each point occurs on the production possibilities curve represents productive efficiency.

e Each point occurs inside the production possibilities curve represents productive inefficiency.

The points A, B, C, D, Erepresents productive efficiency
Point F represents productive efficiency point

Tractors

Allocative efficiency :
oods and services most highly valued by society (goizall 31,81 aue, o glul).

The particular mix of g

Economic Efficiency = productive Efficiency + Allocative efficiency

Multiple Choices:

production possibilities curve is achieved where:

A. the smallest physical amounts of inputs are used to produce each good.

B. Ech good is produced at a level where marginal benefits equal marginal co@
C. large amounts of capital goods are produced relative to consumer goods.

D. large amounts of consumer goods are produced relative o capital goods.

1. The optimal pointona

2. The marginal cost curve is:

A. Upsloping because of increasing marginal opportunity costs]
ts of a specific product yield

B. upsloping because successive uni
Annnﬂunﬁy costs

C. downsloping because of mcreasing-marginat-oppe
D. downsloping because successive units of a specific product yield less and less extra utility.

less and less extra utility.

______ " I N e 2(.)-‘-;);‘5;:.
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Growir Laz3VI oo
Wing Economy csslazsVl seill resources and technology are fixey

; uality of : f the e 4
When we drop the assumptions that the quaniity ond 9 | maximum output © “onom

< e Ofenﬁa
hhe roduction possibilities curve shifts positions and the P

Changes,

| 558

PWEWRSPER L

1. Increases in Resource Supplies: &=l
ital

land, labor, CCJpr'CJ.,”
s roduction possibilitie
tities of both fypes O

and entrepreneurial Qbimy) »
s curve outward and to The'

The increase in supplies of resources
f goods ( Economic Growfh)

if""pl’ovements in resource qudiity, move the p
right, allowing the economy to have larger quan
The increase in supplies of resources, improvements in resource quality, shifis the production possibilities iy,
outward and to the right (Economic Growth).
sl LS\ asmasis g arwedl b alolall Soily OBl ls) & ©l; 45 &Vl slsell BsaS Ol Lo a3
13057 g Al A5l oSl garmall 1is 8)3ko Of Aol orisy 23 O wsdloswlJl oSl 83055 ,a0a00ll 89,
s (sle Jgasl oSags (sl goi ) bsiw wloaxlly pladl oo 51 oliaS gy of gazzall 1is gz s Ul
P MUl &lsog ,galolall cayads auchill oVl eMeaiwl Joto ,@oazol) asliadl 5)lgall e cu s 13 ey
RS
)38y

A decrease in supplies of resources, shift the production possibilities curve inward and to the left from P PC) 1
PPC,. (Economic recession (3= 355 ).

ECOnomis raseesion

Raobots (thousands)
Robots (thousands)

\

\

!

e\
\

Pizzas (hundred thousands)
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Econl31: Principles of. Microeconomics

Chapter 1: Limits, Alternative, and Choices s dar

3. The output pf MP3 players should be:
A. reduced if marginal benefits exceed marginal costs.

B. _educed if marginal costs exceed marginal benefits.
C. increased if margina
D. reduced [

ive products

4. Refer to the above diagram. Points A, B, C, D, and E show: 144 '
A. That the opportunity cost of bicycles increases, while that of computers is k B
‘constant. 2 N
B. Cg:)mt?incﬁons of bicycles and computers that sociely can produce byl «1° \e o
sing its resources efficiently] g 8t .
= >
C. That the opportunity cost of computers increases, while that of bicyclesis 3 & £
constant. 2 4 §
D. Tr)ct society's demand for computers is greater than its demand for
bicycles. il
\E +
_ 0 2 48 8 10
Gomputers
Unemployment, Growth, and the Future

Unemployment of Resources

ALlS 850 alstiss it ol ,Alstuin 8 tWYl yolic yie 05 loxic do gloyl yolis) JelS)] cabstl pac
- Yl olis) Jols)l cipbeill pac Jios Yl olilso] (sixis J3Is aais ol of sy [1ag

Q
. m?
Any point inside the production possibilities curve, such as U, represents ol
unemployment or a failure to achieve full employment. - sg
T

The arrows indicate that by redlizing full employment, the 3 45 e
economy could operate on the curve. This means it could 2= 5§
produce more of one or both products than it is producing at 8 &
point U. < 3

0HilL2 3 4 5 & T e
Pizzas (handred thousands)
Example

Refer to the production possibilities curve. Which point. represgnts unemployment and
producing inefficiently? And which points represent productive efficiency?

guns

Point a: unemployment point and producing inefficiently.
(J.hs.n GLZJ\” ).oL‘..c OR B3 ) cl:ﬁ” ).aL'..nJ Jn[S UMazwl Jus a>gs \

e

!
Point's b, ¢, e, and f represent productive efficiency [ wle g (P ; e
onixaoJl) ! 8
!
{

T | Pase

- & AT RS AARE SRS S
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Econl3l: Principles 0 Microeconomics g |

Multiple Choices:

possibilities curve to .sh.i_ﬁ" outward.

1. Unemployment: )
A. causes the produc?non e
G e pebaledby a uction vossibiliies CUYe: x

C.is illustrated by @ oint outside the rod . 0(¢
- nside the production PQs

D. fsillustrated by & oint-inst
ght shif: fo the left (inw:

— 3 due fo over lanting and over rozinag__(&ﬂ]:_

h is best

ard) as d result of:

A nation's production possibilifies curve mi

A. technological advance.
8. increases in the size of the labor force.

1etion of its soil fertilit
g in more capital goods.
e concept of economic growt

3. Refer to the above diagram. Th

represented by the:

A. Move from point B to point C.
B. Move from point C to point D.
C. Move from point B fo point EJ «

D. Move from point F fo point E

Capltal goods

£ 0 Cﬁnsumerggods'

Oslozodl ugq Ujlaiodl goill

Biased Growth and Unbiased Growth:

sl goill Lol @il puidiy SoLudl Llio 53 ( Pizza and Robots ) gLl

2 P SO geox gl s baice Ojlox Jl e

ki pzp 435 Jolialls il 2] wole 5y of wes plabll 2] 8ls (sJ] w538 Lo 1idg ,auclJl (ool '&uUJ:I‘
Plabd o] osle 23 iy o 095 lSal 2Ll Aole Lorglet

Generally we assume an increase i i
. y se in available resour i i
An improvement in technology, h i peeulong - |
, howeve ifi Srhigaet g
e cDds.gy r. may be specific to one product. In this si'ruo:iz/)n ﬂ:)eo LhP(gjoc}i'
shi

Improvement that benefit
. s both
rodi “PPC: ] hoal
gon,,ic;;llf’qsmfts iate Improvement {hat benefit
- ooyl PRC st (0 he
3 o right frormy PPCito PPC2
w ‘o "
3 =
; G
0 3
. S pa
£ T
0
¢}
o PpPC, \,JV PPC,
e 1

o
12233 {hundred thousands)

Pizzas (}
(hundregd thcusands)

23 | Pak
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Multiple Choices:

1. Which of the following could explain the shift in the production possibilities frontier from AB to AC
A. technological improvement in both television production and

=
compufter production 2
B. technological improvement in television production that has no effect A
- on computer production i s ®
C. kechnological improvement in_computer production that has no|
ffect on felevision production]
D. anincrease in the labor

that can produce either ielevision products or
computer :

Which of the following will shift the production possibiliies curve to the e
right2

A. an increase in the unemployment rate from 6 o 8 percent )

B. a decline in the efficiency with which the present labor force is allocated

C. a decrease in the unemployment rate from 8 to é percent

D. la technological advance that allows farmers 1o produce more output from given inpuls

c
Computer

N
=

3. In the figure above, moving from point D fo point E requires
A. Technological change.

B. Anincrease in unemployment.

(ot

Give up (= 5%) some of televisions in order to obtain more]
ompute

felevisions
-
@

o
=

L

Ao

D. Give up some of computers in order fo obtain more televisions.

. . “E ;
1 2" 3 A
: computer

Questions
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Question #1

|
2
"
“
K

ok L S

Refer to the production possibilities frontier in the figure above
answer the following questions

per month]

1. Which point is unattainable?

2. Which point indicates that resources are NOT fully utilized or
are inefficient?

3. Which point represents an attainable but inefficient
production poin{?

4. Which point represents the choice to allocate the Qrecﬂest
amount of resources to producing consumer goods?

B
o

Consumer goods millions

If the country moves from point a to point d, the opportunity
cost of one more unit of consumer goods is : 0

If currently no capital goods are being produced, what is the
Totaropportunity costof produeing-another10-capital

goods? "
. What must the economy do to attain point &2

0
Copital goods {millions per month)
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Econl3l: Principles of Microeconomics

Question # 2:

The iable below fists five poins on the production possibilifies frontier

Chapter 1: Limits, Alternative, and Choices Yple g o
|

for chocolate bars and cans of cola.
1. Show these data graphicatly
2. If the economy at point B, what is the opportunity cost of the
one rore cans of cola? : g /
3. If the economy at point D, what is the opporfuni
one more bar of chocolate? i
4. If the economy producing at point E. what is the opportunity
cost of producing 40 cans of cola?
5. Can the economy producing 20 chocolate ba
6. Does the law of increasing opportunity cost hold he

ty cost of the

re? Show how?

Question #3

The table above represents t
answer the following questions.
1. Which of the following combinations is U
grain and 26 car), (2 tons of grain and 27 cois), (6 tons O
18 cars), (7 tons of grainand 10 cars)
2. If the economy at point D. what is the opportunity cost of
producing one more unit of car?
3. What is the opportunity cost of increasing grain pi
tons to 4 fons?
4. What is the opportunity co roducing the 5" ton of grain?
5. What is the opportunity cos g the 26! car?

he production possibilit:s frontier for

nattainable? (4 tons of
f grain and

roduction from 2

st of p
t of producin

Question # 4: .

r the following statements are positive or normative:

Decide whethe

petrol will le
ht to introduce a ban
e in income per head, people are

1. Arise in the price of

2. The government is rig

3. Despite alarge increas
years ago

4, The governmen

fresh vegetablesin

5. A fallinincomes wi

t can reduce obesi
the supermarket
Il lead to arise in deman

Question # 5:
The graph represents the production possibilifies frontier for Bread and
Tractors

1. Is the combination of (3 Tractors and 12 -Bread) unattainable?

Explain

s and 75 cans of colag If no

grain and cars. Given this information

ad to anincrease in the demand for rail fransport
on smoking in public plac
no happier

ty by offering a subsidy fo low income fomilies when they buy

d for own-label supermarket foods

t why?

Production of

grain
(tons)

Produdi“
of Cars.
(cary)

—

Point

AL EINIRC]
,l‘\-)

[y
Q
o

es
today than they were 50

(T 2N accon

5> —+the—economy—at point C. what is the opportunity cost of

produ.cing one more unit of Bread?
What is the opportunity cost of producing the 5th ton of graing
4. Whatis the opportunity cost of producing the 4th Tractors?
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